APPENDIX ~ C
First Draft of Achievement Test

Achievement Test

Name of the Student:
Name of the School:

Date:

Note: - Read the questions properly

- Number on the on the right side in bracket indicates total marks
for each Question

Q.I Fill in the blanks by selecting the correct alternative from the options

given on the right. (40)
1. Every line has atleaét distinct points.
(0,1,2)
2. If XY =YZ thenY XZ.
(c, €, &)
3. Exactly lines can be determined by three distinct non-

O

collinear points.
(1,2,3)

If Pe Q—ﬁ then P, Q, R are

(equal, collinear, non-collinear)

. Two distinct points P,Q are on both the lines ¢; and ¢,, then ¢4

4. (=l¢:€)

. IfPeL & Qg L, then PO ___ L.

(=, %, ©)

. Two. distinct lines intersect in exactly one point. Then they are

lines.

(parallel, non-parallel, same)
IfRe}@ &Sﬁ‘f’—é,then Fémﬁ = _

({S}/ {P}, {R})

. For points P, Q, R, PQ+QR PR.

(= <, 2)

10.For distinct collinear points P, Q & R if RP+PQ=QR, then .

(P'Q' R: R'P'Ql R'Q'P
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11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

21.

22.

23

24.

25.

26.

A & B are the end points of
(4B, 4B, 4B)
Line-segments having equal lengths are called ____ line-segments.
(congruent, parallel, same)
If P-Q-R & then Q is a midpoint of a line-segment PR.
‘ (PQ=PR, PR=QR, PQ=QR)
Every line-segment has ___ mid-point.
(0,1, 2)
For D-E-F-G, DE N EG =
(DE, FG, EF)
For AB , ____is called the initial point.
(A, {A}, {B})
For}é, the ray extends infinitely towards |

(P, Q, nowhere)

JO— JRE—

AB AB.
(e, =, <)
AB U {P/A-B-P} =

(PB, BP, 4B)

For E-D-F, _______ will be the opposite rays.
(ED&DF, FD&DE , DE & DF)
A has a bisector.
’ (line, line-segment, ray)
If MN=PQ, then MN __PQ.

_ (=, <, =)
. Three non-collinear points determine ____ plane.
(more than two, two, one and only one)
For plane «, it contains atleast non-collinear points.

(1,2,3)

If P & Q are points of plane o then I@Ma.

The intersection of two intersecting distinct planes is a

(line, ray, plane)

282



27. Let X; & X, be two half planes formed by line / & planea, then
XiN X2 =

(X1, £, ¢)

28. If A & B are in the same half plane made by / then ABNt =
| (A ¢, 1)

29. Forpoints P& Qand aplane X, PQ & P, Q € X; XN E =_

({P,Q}, Plane X, PQ)

30. If three non-collinear points A, B, C are in plane X as well as in
plane Y, then
(X=Y, XY, XY)
31. For an angle ZABC if A-O-C, then O is in the of ZABC.

(exterior, cross, interior)
32.If D is in the of an angleZABC, then EB_

intersects AC . ,
(interior, exterior, union)
33. An angle has measure between 0 & 180.
(exactly one, more than one, no)
34. For point D in the interior of ZBAC , m £BAD + = mZLBAC.
' (MZLACD, m£ZDAC, mZLADC)
35. An angle has bisector.
(one, two, no)
36. If two congruent angles are supplementary, then each of them is a
angle.
(right, acute, obtuse)
37. If one angle of a pair of supplementary angles is acute then the
otheris angle. (acute, right, obtuse)

38. The bisector of ZMONiSOP. If m/MOP = .45°, then ZMOPis
to LMON . (supplementary, obtuse, complementary)
39. If S is in the interior of £LPQORthen point P is in the exterior of

(£PQS , LSQR, ZSPQ)
40. Each of the angles from a pair of complementary angles is
(obtuse, right, acute)
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Q.II Look at the fonoWing figures and answer the'respective

questions:
~ [AlFigure-1 (05)
« A . ¢ D E_
-3 -1 0 3 5
. IsAC = CD? Ans.

. What will be the number corresponding to the mid-point

of BD? Ans.

3. What will be 4E? ' Ans.

For the point F, if A-F-E and AF =4, then what will be the
number corresponding to F? Ans.

. For C-O-P-E, if OP=2=PE, then what will be CO?

Ans.
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[B] Figure - 2 (15)

5 04 £s
1. Whatis /i 1,? Ans.
2. Which are the points on line / 4? Ans.
3. Which four points are collinear? Ans.
4. Which are the lines that intersect in P? Ans.
5. If PT=9.5 & PV=3, then what is VT?- Ans. _
6. If T is a mid-point of SU & numbers corresponding to S & U
are -6 & 7 respectively, then what is the number
corresponding to T? Ans.
7. Are lines OV & ST intersecting? Ans.
8. What is the intersection of RV & UV ? Ans.
9. What isQV nRU ? ‘ Ans.
10. Whatis PV nTU? Ans.
11. What is the intersection of UQ &7S ? Ans.
12. Whatis the intersection of UV &P@? Ans.
13. Are RQ&VU opposite rays? Ans.

14. What is the intersection of line /; and @5? Ans,

15. Whatis RS /37 Ans.
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[C] Figure — 3 (10)

I L o

~

10.

A B
/
E ’
/ P
Which pointé are in the planea? Ans.
Are planes o &g parallel? Ans.
Of which plane is PS subset? Ans.
Are AF and/ intersecting lines? Ans.
ZEZ&FQ, are they coplanar or skew. lines? Ans.

Mention the points of a lying in the same half planes?

Ans.

. Are 4E &QS intersecting each other? Ans.
. What is the intersection of planes a &7 Ans.
. Is / a subset 61‘ closed half4plane ofa? Ans.
Is P, Q & S coplanar points? Ans.
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[D] Figure - 4

A o
JA
F J E
45
K W ¢ >
B
.H L
1. Name the arms of £ZABC? Ans.
2. List the points in the exterior of £ EBC? Ans.
3. List the points in the interior of ZABD? Ans.
4. List the points on the ZABD? Ans.
5. Which rays will intersect 4D ? Ans.
6. Are ZABC & £ BCA same? Ans.
7. Are ZABE & £ EBA same? Ans.
8. Are ZABK & £KBL adjacent angles? Ans.
9. Which is the bisector of ZABD? Ans.
10. Which are the complementary angles?
Ans.
11. Are ZABL & ZABE supplementary angles? Ans.
12. Is ZABD & ZABL linear pair of angles? Ans.
13. Are ZEBD & £KBL congruent angles? Ans.
14. Are ZEBA & «LBD vertically opposite angles? Ans.
15. ZABL is which type of angle? Ans.

(15)
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 Q.III: Represent each of the following by a figure: (15)

1. P¢ ABbut Qe BP.

2. AB=PQ, but 4B = PR& Se OR & R-Q-S.

3. A-B-C, C-D-E, A-F-E, D-G-A.

4. Re PQ & S¢ PQ, PO RS ={R}.

5. Fordistinct lines ¢,, ¢,, £,; £{,n{,=¢ and £, N £,={X}.
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6. AB=CD# CE.

7. X,Y and Z are collinear, /is a line, X¢ /, ,Ye I, Z¢ .

8. P,Q,R & P,S,T are non-collinear triplets; but P,Q,S & P,R,T are not.

9. @cﬁ;ﬁﬁ.

10. A, O, B are 3 non-collinear points and 2605]}:{0}.
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11. 14, 1, and I are three distinct lines and £, M £, N £3={P}.

12. A¢ PO but Be 4Q.

13. X,Y and Z are non-collinear points and I is a line, Xe ¢, Ye £ and
Ze L.

14. RO ¢, and Se £, S-R-Q.

15. PO £, 0 £,=4P}; Q¢ £,Q¢e £;.
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